CCLair®

LIKAMULBRAERFZENRE

MCY14-1BE EH M ER

XMRERERE (BATUAMD HERAZENH. ZROENATE
ELeB /N, HMEAES~4AMPal =4 LT8R, REBLEBRPDERERWSER
BE. IMRRFELESTSRELHESR, AHEEHUH, REAFRE
MENTWER, ATHAEE, EREVENHHRTERBRETL, 4R
REEANEFERRENZETUNNBENIFEEL,

1000r/minBy AR 2

B:REKLLBIRE

Y:ENIMEEE

C:Hlzh (@i EE

C:31. 5MPa

TARiE: EHERE AT 75 1)
‘ F:RIEs 7 m

]

Bt S (ABC...)

1 E—MEUKS

14 GRRE R B E A ER (i)

Y:R

M:5 &

> P-85 IRIFRE (R TE



CCLair®

BASH

me

LIKAMULBRAERFZENRE

AFRIEFIMpa

AFRHEEmI/r

HitHEEL/min

1000r/min

2.5

MCY14-1B

31.

2.5

2.5

1500r/min

3.75

BAHEHNEKW |

1000r/min

RAEICHEN. m

1.43

17.5

MCY14-1B

31.

[¢)]

5

5

7.5

2.75

27

10

16

MCY14-1B

SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

10

10

15

5.7

54.6

MCY14-18
SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

16

16

24

8.8

86. 3

25

32

MCY14-1B

YCY14-1B

SCY14-1B

BCY14-1B

PCY14-1B

31.

25

25

37.5

14.1

134.9

MCY14-1B

SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

32

32

48

17.5

172

40

MCY14 1B
SCY14-1B
YCY14-1B

BCY14-1B

PCY14-1B

31.

40

40

60

22.6

201.5

63

MCY14-1B

SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

63

63

94.5

35.6

339.9

80

MCY14-1B
SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

80

80

120

46.6

405. 1

100

160

MCY14-1B

SCY14-1B

BCY14-1B

YCY14-1B

PCY14-1B

31.

100

100

150

55.2

540

MCY14-1B

SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

160

160

240

92.2

880.3

250

. SsCY14 1B

MCY14-1B

YCY14-1B
BCY14-1B

PCY14-1B

31.

250

250

375

133.2

1272.4

400

MCY14-1B

SCY14-1B

YCY14-1B

BCY14-1B

PCY14-1B

31.

| 400

400

199.5

> P-86

-

1905. 2

IRIFRE (R TE



CCLair®

LIKAMULBRAERFZENRE

IMERST
a2—da
B iEEE
el
f— B
L.y.lo, |
Sl f— | S 5 SRS, SHI—_— N 1581
Lz \‘ e
% | {
La e~ ==
P .L_&_.__J |
L& |
-
Lﬁﬁuj——”""‘ﬂ 160MCY (M)14-1BL) b A 2 i
: L
: . R 27 o SRS e i e | s
EE: =it L
[
o i h3
Pl resd |
[
we | 25MCY  suCY 10MCY | 25MCY | (32)40MCY | 63(80)MCY | 100MCY 160Mcq " 250(400)MCY
2.5MCM  5MCM  10MCM = 25MCM  (32)40MCM  63(80)MCM  100MCM  160MCM  250(400)MCM
b | 8 85 142 172 172 200 200 340 420
© b0(h9) 5 5 8 8 8 12 12 16 18
DO 80 80 100 125 125 156 155 108 230
D1(f9) 52 52 75 100 100 120 120 150 180
D2 95 95 125 150 150 190 190 240 280
D5 100 100 | 150 | 170 170 225 225 300 360
d(h6) 14 14 25 30 30 40 40 55 60
Cd1 M18x1.5 MI8x1.5  M22x1.5  M33x2 = M33(M42)x2  M42(M48)x2  M48x2 50 55(65)
Cdo 64 76
d2 M10x1 M10x1 | M14x1.5 M14x1.5  Mi4x1.5 M18x1.5 = M18x1.5 M22x1.5  M22(M27)x1.5
h1 44 44 71 83 83 108 108 141 170
h5 25 25
L 176 176 295 362 362 440 440 595 691(701)
L 20 20 30 45 45 50 50 100 100
L1 2.5 2.5 4 4 4 4 4 4 5
L2 24 24 40 52 52 60 60 106 110
L3 25 25 41 54 54 62 62 110 112
L4 64 64 86 104 104 122 122 180 212
L5 80 80 109 134 134 157 157 230 272(277)
L6 124 124 194 246 246 300 300 411 492(502)
M Mex12 M10x25  M10x25 M10x25 M12x25 M12x25 = M16x35 M20x45
ot 18 16 28 32.5 32.5 42.8 42.8 59 63.9
> P-87 KRIFRE. B R



